










Seven persons A, B, C, D, E, F and G are sitting in row and all are facing 

towards north but not necessarily in the same order. B sits second from one of 

the extreme ends. Three persons sit between D and B. Two persons sit between 

D and A. C sits to the immediate left of A. F sits to left of C but is not an 

immediate neighbor of C. More than two persons sit between F and E.

सात व्यक्ति A, B, C, D, E, F और G पंक्ति में बैठे हैं और सभी का मखु उत्तर की ओर ह ैलेक्तकन 

आवश्यक नहीं इसी क्रम में हो। B क्तकसी एक अंक्ततम छोर से दसूरे स्थान पर बैठा ह।ै D और B के 

बीच तीन व्यक्ति बैठे हैं। D और A के बीच दो व्यक्ति बैठे हैं। C, A के ठीक बाई ंओर बैठता ह।ै F, 

C के बाई ंओर बैठता ह,ै लेक्तकन C का क्तनकटतम पडोसी नहीं ह।ै F और E के बीच दो से अक्तिक 

व्यक्ति बैठते हैं।



Seven persons A, B, C, D, E, F and G are sitting in row and all are facing 

towards north but not necessarily in the same order. B sits second from one of 

the extreme ends. Three persons sit between D and B. Two persons sit between 

D and A. C sits to the immediate left of A. F sits to left of C but is not an 

immediate neighbor of C. More than two persons sit between F and E.



In a certain code language, FASHION is written as TBGJMNH, 

then how is STYLING written in same code language?

एक निनित कूट भाषा में, FASHION को TBGJMNH के रूप में निखा जाता 

है, निर STYLING को उसी कूट भाषा में कैसे निखा जाता है?

(1) ZUSNFMI

(2) YUTNFMH

(3) PQTRFMH

(4) ZUTNFMH

(5) None of these



E     J     O      T       Y

5    10    15    20     25

G     N     U      

7     14     21         

C   F   I    L     O    R    U    X

3    6   9  12   15   18   21  24



Opposite Alphabets:-

A-Z A to Z
B-Y Boy
C-X Crax
D-W Dew
E-V Love
F-U Uff

G- T G.T. Road
H- S High School
I-R Indian Railway
J -Q Jaipur Queen
K-P Kanpur
L-O Love
M-N Man



In a certain code language, ANIMATION is written as 

UJPODYLGK, then how is AUSTRALIA written in same code 

language?

एक निनित कूट भाषा में, ANIMATION को UJPODYLGK के रूप में 

निखा जाता है, निर AUSTRALIA को उसी कूट भाषा में कैसे निखा जायेगा 

?

(1) BMJBUYRQS

(2) YLGKDUJPO

(3) BMJBUYSQR

(4) ZUTNFMHRT

(5) None of these



In a certain code language, ASSOCHAM is written as 

KGGYOATY, then how is SURGERIE written in same code 

language?

एक निनित कूट भाषा में, ASSOCHAM को KGGYOATY के रूप में निखा 

गया है, तो SURGERIE को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) GEHSWJSW

(2) SHEGWRIW

(3) SEHGWJSW

(4) SHEGWSJW

(5) None of these



In a certain code language, LEADING is written as MDZEHOH, 

then how is TRAINEE written in same code language?

एक निनित कूट भाषा में, LEADING को MDZEHOH के रूप में निखा गया 

है, तो TRAINEE को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) UZQJMFF

(2) UQBHODF

(3) USZHODF

(4) USZHODD

(5) None of these



In a certain code language, HOSPITAL is written as FJQQJQBI, 

then how is PATIENTS written in same code language?

एक निनित कूट भाषा में, HOSPITAL को FJQQJQBI के रूप में निखा 

गया है, तो PATIENTS को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) IXEQUOIJ

(2) UQJIOEXI

(3) EXIUQJIO

(4) EXIUQOIJ

(5) None of these



In a certain language, DELHI is written as , EFMIJ then how is 

MUMBAI written in same language?

एक निनित कूट भाषा में, DELHI को EFMIJ के रूप में निखा गया है, तो 

MUMBAI को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) NVNCBJ

(2) NBBCLB

(3) NMCNJI

(4) NBNCBJ

(5) None of these



If LOVE is coded as PSZI . How TEAM written in that code ?

एक निनित कूट भाषा में, LOVE को PSZI के रूप में निखा गया है, तो 

TEAM को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) XIEQ

(2) XEQI

(3) XEIQ

(4) XPOQ             

(5) None of these 



If SHARN is coded as HSZIM. How SHANU written in that code ?

एक निनित कूट भाषा में, SHARN को HSZIM के रूप में निखा गया है, तो 

SHANU को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) HSMZF

(2) HSFZM             

(3) HSZMF

(4) HSVZM             

(5) None of these



If AMERICA is coded as ADEIICA, how is AFRICA coded in 

that code ?

एक निनित कूट भाषा में, AMERICA को ADEIICA के रूप में निखा गया 

है, तो AFRICA को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) AFIIAC

(2) AIIACF

(3) AFIICA  

(4) AIFIACF

(5) None of these



If SULTAN is coded as HAABAC, how is NOIDA coded in that 

code ?

एक निनित कूट भाषा में, SULTAN को HAABAC के रूप में निखा गया 

है, तो NOIDA को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) MINDA

(2) NMDAI                 

(3) MNIDA

(4) INMDA             

(5) None of these 



If HEALTH is coded as GSKZDG, how is NORTH coded in that 

code ?

एक निनित कूट भाषा में, HEALTH को GSKZDG के रूप में निखा गया 

है, तो NORTH को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) OPSUI

(2) IUSPO          

(3) GSQNM 

(4) FRPML              

(5) None of these



If MOHAN is coded as OOJAP, how is SANDEEP coded in that 

code ?

एक निनित कूट भाषा में, MOHAN को OOJAP के रूप में निखा गया है, 

तो SANDEEP को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) UAPDGER

(2) UADPGER

(3) UPADGRE

(4) UAPDEER

(5) None of these



In a code , DURATION is written as VEBSJUOP ,how is 

FORECAST written in that code ?

एक निनित कूट भाषा में, DURATION को VEBSJUOP के रूप में निखा 

गया है, तो FORECAST को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) PGSFBDTU

(2) PGFSUTB

(3) PGSFUTBD

(4) PGFSBDUT

(5) None of these  



In a certain code VINIT is coded as 49490, HARSHIT is coded 

as 8123890. How is RISHI coded in that code ?

एक निनित कोड में VINIT को 49490 के रूप में कोनडत नकया जाता है, 

HARSHIT को 8123890 के रूप में कोनडत नकया जाता है। उस कोड में 

RISHI को कैसे कोनडत नकया जाता है?

(1) 29839

(2) 29389

(3) 29489

(4) 28939

(5) None of these



In a certain code PERSON is coded as 724163, SHARE is coded 

as 18542. How is HERO coded in that code ?

एक निनित कूट भाषा में, PERSON को 724163 के रूप में निखा गया है, 

और SHARE को 18542 के रूप में निखा गया है तो HERO को उसी कूट 

भाषा में कैसे निखा जायेगा ?

(1) 8246

(2) 8244

(3) 8264

(4) 2846

(5) None of these



In a certain code PERON is coded as 75965, HARE is coded as 

8195. How is HERO coded in that code ?

एक निनित कूट भाषा में, PERON को 75965 के रूप में निखा गया है, और 

HARE को 8195 के रूप में निखा गया है तो HERO को उसी कूट भाषा में कैसे 

निखा जायेगा ?

(1) 8596

(2) 8965

(3) 8559

(4) 8695

(5) None of these



A∆B means A is mother of B. /A, B माता है।

A$B means A is sister of B/ A, B बहि है।

A*B means A is father of B / A, B नपता है।

A#B means A is brother of B / A, B भाई है।

Which of the following means R is uncle of T?

निम्िनिनखत में से नकस निकल्प में R, T के अंकि है?

(1) R*P#S∆Q$T 

(2) S*P#R*U#T

(3) P*R#Q$S*T 

(4) P*R$Q$S*T 

(5) None of these



A∆B means A is mother of B. /A, B माता है।

A$B means A is sister of B/ A, B बहि है।

A*B means A is father of B / A, B नपता है।

A#B means A is brother of B / A, B भाई है।

Which of the following means L is paternal grandfather of O ?

निम्िनिनखत में से नकस निकल्प में R, T के अंकि है?

(1) L*R$M#K#O

(2) R*L∆P#K$O

(3) L*M∆R*K#O

(4) L*R#M*K#O

(5) None of these



X + Y means X is the mother of Y./ X ,Y की माता है।

X × Y means X is the father of Y./X ,Y का नपता है।

X $ Y means X is the wife of Y./X ,Y की पत्िी है।

X % Y means X is the sister of Y./X ,Y की बहि है।

X ÷ Y means X is the son of Y./ X ,Y का पुत्र है।

X # Y means X is the husband of Y./X ,Y का पनत है।

Which of the following options is true if the expression 

‘A + B % J × L ÷ K’ is definitely true?

(1) L is daughter of B

(2) K is son-in-law of A

(3) A is grandmother of L

(4) B is father of J

(5) J is brother of L

अनभव्यनि निनित रूप से सत्य है तो कौि सा निकल्प सत्य होगा ?

‘A + B % J × L ÷ K’

(1) L, B की पुत्री है

(2) K, A का सि इि िॉ है।

(3) A, L की ग्ांड मदर है।

(4) B, J का नपता है।

(5) J, L का भाई है।



X + Y means X is the mother of Y./ X ,Y की माता है।

X × Y means X is the father of Y./X ,Y का नपता है।

X $ Y means X is the wife of Y./X ,Y की पत्िी है।

X % Y means X is the sister of Y./X ,Y की बहि है।

X ÷ Y means X is the son of Y./ X ,Y का पुत्र है।

X # Y means X is the husband of Y./X ,Y का पनत है।

What should come in place of question mark to establish that Y is son-in-law of W in the expression 

यह सुनिनित करिे के निए प्रश्न निह्न के स्थाि पर क्या होिा िानहए नक अनभव्यनि मे Y, W का सि-इि-िॉ है ।

‘V % W × X ? Y × Z’

(1) ÷

(2) %

(3) ×

(4) $

(5) Either $ or ×



X + Y means X is the mother of Y./ X ,Y की माता है।

X × Y means X is the father of Y./X ,Y का नपता है।

X $ Y means X is the wife of Y./X ,Y की पत्िी है।

X % Y means X is the sister of Y./X ,Y की बहि है।

X ÷ Y means X is the son of Y./ X ,Y का पुत्र है।

X # Y means X is the husband of Y./X ,Y का पनत है।

Which of the given expressions indicates that P is daughter of Q?

दी गई अनभव्यनियों में से कौि सा कथि इनंगत करता है नक P, Q की बेटी है ?

(1) L % R % Q + T % P

(2) L + R $ Q × P % T

(3) L % R $ Q + T × P

(4) B + L $ Q ÷ P × T

(5) L $ B ÷ Q % P ÷ T



If ‘A × B’ means ‘A is the son of B’. / ‘A, B का पुत्र है’ 

If ‘A + B’ means ‘A is the father of B’. / ‘A, B का नपता है’ 

If ‘A > B’ means ‘A is the daughter of B’. / ‘A, B की पुत्री है’ 

If ‘A < B’ means ‘A is the wife of B’./ ‘A, B की पत्िी है’ 

What will come in the place of the question mark (?), if it is provided that M is the 

grandmother of F in the expression :

प्रश्न निह्न (?) के स्थाि पर क्या होगा, यनद यह प्रदाि नकया जाता है नक M,F की ग्ैंड मदर है अनभव्यनि में :

‘F × R < S ? M’

(1) >

(2) <

(3) +

(4) ×

(5) Cannot be determined



(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : A > C ≥ T > I ≥ O > N

Conclusions : I. A > N

II. C > O



Statements : A = B ≥ C = D ≥ E = F

Conclusions : I.  A ≥ F

II.  A = F



Statements : N > U > M < B > E > R

Conclusions : I.  N > R

II.  N ≤ R



Statements : D > E ≥ S > I ≥ G > N

Conclusions : I. D ≥ N

II. D < N



Statements :  1 > 2 > 3,  5 < 4 < 3

Conclusions :  I. 1 > 5

II. 4 < 2



Statements : # ≥ $, $ ≥%, % = @, @ > &

Conclusions :  I. $ = @

II. $ > @



Statements : D>B, C > K, K < N, B<C, N<B

Conclusions :  I. D > N

II. C > N



Statements : Q > W ≥ E ≤ R < T ≥ Y

Conclusions : I. Q ≠ Y

II. Q = Y



Statements : S = Y ≠ M > B > O = L

1. Conclusions : I. Y > B

II. Y ≤ B

2. Conclusions: l. S > M

II. Y < M



Statements :    S = M ≠ A ≠ R = T

1.  Conclusions : I. M = R

II. M ≠ R

2.  Conclusions : l. S > A

II. S < A



There are certain number of persons sitting in a row facing towards north 

direction. A sits fifth to the right of B. Two persons sit between C and B. D sits 

fourth to the left of C. Four persons sit to the left of D. The number of persons 

sit between D and B is same as the number of persons sit between B and F. F 

sits at fourth position from one of the extreme ends. 

एक पंक्ति में क्तनक्तित संख्या में व्यक्ति उत्तर क्तदशा की ओर उन्मखु होकर बैठे हैं। A, B के दायें से

पांचवें स्थान पर बैठा ह।ै C और B के बीच दो व्यक्ति बैठे हैं। D, C के बायें से चौथे स्थान पर बैठा

ह।ै D के बायीं ओर चार व्यक्ति बैठे हैं। D और B के बीच बैठने वाले व्यक्तियों की संख्या समान ह ै

व्यक्ति B और F के बीच में बैठते हैं। F क्तकसी एक अंक्ततम छोर से चौथे स्थान पर बैठता ह।ै



There are certain number of persons sitting in a row facing towards north 

direction. A sits fifth to the right of B. Two persons sit between C and B. D sits 

fourth to the left of C. Four persons sit to the left of D. The number of persons 

sit between D and B is same as the number of persons sit between B and F. F 

sits at fourth position from one of the extreme ends. 



Six people P, Q, R, S, T and U have events on different dates 7th and 12th of 

different months i.e. January, February and March. D has event on even 

numbered date in the month having 31 days. The number of persons have event 

before D is same as the number of persons have event after A. One person has 

event between A and C. F has event before C. B has event just before E.

छ: व्यक्ति P, Q, R, S, T और U के पास अलग-अलग महीनों की 7 और 12 तारीखों अथाात 

जनवरी, फरवरी और माचा की अलग-अलग तारीखें हैं। D के पास 31 क्तदनों वाले महीने में सम 

संख्या वाली तारीख पर घटना ह।ै D से पहले घटना वाले व्यक्तियों की संख्या, A के बाद घटना वाले

व्यक्तियों की संख्या के समान ह।ै A और C के बीच एक व्यक्ति की घटना ह।ै F की C से पहले घटना 

ह।ै B की घटना E से ठीक पहले ह।ै



Six people P, Q, R, S, T and U have 

events on different dates 7th and 

12th of different months i.e. January, 

February and March. D has event on 

even numbered date in the month 

having 31 days. The number of 

persons have event before D is same 

as the number of persons have event 

after A. One person has event 

between A and C. F has event before 

C. B has event just before E.



Twelve members of a football team are sitting in two 

parallel rows containing six people each, in such a 

way that there is an equal distance between adjacent 

persons. In row-1 U, V, W, X, Y and Z are seated 

and all of them are facing south. In row-2 A, B, C, D, 

E and F are seated and all of them are facing north. 

Therefore in the given seating arrangement each 

member seated in a row faces another member of the 

outer row. X sits third to right of V, either X or V 

sits an extreme end of the line. The one who faces V 

sits second to right of E. Two people sits between B 

and F. Neither B nor F sits at an extreme end of the 

line. The immediate neighbor of B faces the person 

who sits third to left of U. W and Y are immediate 

neighbors of the each other. C sits second to the left 

of A. Y does not face the immediate neighbor of D.

एक फुटबॉल टीम के बारह सदस्य दो समानांतर पंक्तियों में 

प्रत्येक में छह व्यक्ति इस प्रकार बैठे हैं क्तक आसन्न व्यक्तियों के 

बीच समान दरूी ह।ै पंक्ति-1 में U, V, W, X, Y और Z बैठे हैं 

और उन सभी का मखु दक्तिण की ओर ह।ै पंक्ति-2 में A, B, C, 

D, E और F बैठे हैं और उन सभी का मखु उत्तर की ओर ह।ै 

इसक्तलए दी गई बैठने की व्यवस्था में एक पंक्ति में बैठे प्रत्येक 

सदस्य का मखु बाहरी पंक्ति के दसूरे सदस्य की ओर ह।ै X, V 

के दायें से तीसरे स्थान पर बैठा ह,ै या तो X या V पंक्ति के 

अंक्ततम छोर पर बैठा ह।ै वह व्यक्ति क्तजसका मखु V की ओर ह,ै 

E के दायें से दसूरे स्थान पर बैठा ह।ै B और F के मध्य दो व्यक्ति

बैठे हैं। न तो B और न ही F पंक्ति के अंक्ततम छोर पर बैठे हैं। B 

के क्तनकटतम पडोसी का मखु उस व्यक्ति की ओर ह ैजो U के 

बायें से तीसरे स्थान पर बैठा ह.ै W और Y एक दसूरे के 

क्तनकटतम पडोसी हैं. C, A के बायें से दसूरे स्थान पर बैठा ह।ै Y 

का मखु D के क्तनकटतम पडोसी की ओर नहीं ह।ै 



Twelve members of a football team are sitting in two 

parallel rows containing six people each, in such a 

way that there is an equal distance between adjacent 

persons. In row-1 U, V, W, X, Y and Z are seated 

and all of them are facing south. In row-2 A, B, C, D, 

E and F are seated and all of them are facing north. 

Therefore in the given seating arrangement each 

member seated in a row faces another member of the 

outer row. X sits third to right of V, either X or V 

sits an extreme end of the line. The one who faces V 

sits second to right of E. Two people sits between B 

and F. Neither B nor F sits at an extreme end of the 

line. The immediate neighbor of B faces the person 

who sits third to left of U. W and Y are immediate 

neighbors of the each other. C sits second to the left 

of A. Y does not face the immediate neighbor of D.



Six members Z, C, E, F, H and B are born in six different months (of the same year) namely January,February, 

April, May, July and September, but not necessarily in the same order. Each of them born in different days 

namely Monday, Tuesday, Wednesday, Thursday, Friday and Saturday, but not necessarily in the same order. F 

born in a month which has only 30 days. Only one person born between the one who born on Friday and F. The 

one who born on Monday is immediately before the one who born on Saturday.The one who born on Tuesday 

neither born in the month which has 31 days nor in the month which has 30 days. Only two persons born 

between the one who born in Tuesday and B. C born immediately after B. Z born before E, but not immediately 

before E. H born on Thursday.

छह सदस्य Z, C, E, F, H और B छह अलग-अलग महीनों (एक ही वर्ा के) अथाात ्जनवरी, फरवरी, अप्रलै, मई, जलुाई और क्तसतबंर में 

पदैा हुए हैं, लेक्तकन जरूरी नहीं क्तक इसी क्रम में हों। उनमें से प्रत्येक का जन्म अलग-अलग क्तदनों अथाात सोमवार, मंगलवार, बिुवार, गरुुवार, 

शकु्रवार और शक्तनवार को हुआ ह,ै लेक्तकन जरूरी नहीं क्तक इसी क्रम में हो। F उस महीने में पदैा होता ह ैक्तजसमें केवल 30 क्तदन होत ेहैं। शकु्रवार 

को जन्म लेने वाले और F के बीच केवल एक व्यक्ति का जन्म हुआ ह।ै वह व्यक्ति क्तजसका जन्म सोमवार को हुआ ह,ै वह शक्तनवार को जन्म 

लेने वाले के ठीक पहले ह।ै मंगलवार को जन्म लेने वाला न तो उस महीने में पदैा हुआ ह ैक्तजसमें 31 क्तदन हैं और न ही उस महीने में पदैा हुआ

ह ैक्तजसमें 30 क्तदन ह।ै मंगलवार को जन्म लेने वाले और B के बीच केवल दो व्यक्तियों का जन्म हुआ। C का जन्म B के ठीक बाद हुआ। Z 

का जन्म E से पहले हुआ, लेक्तकन E के ठीक पहले नहीं। H का जन्म गरुुवार को हुआ।



Six members Z, C, E, F, H and B are born in six different 

months (of the same year) namely January,February, 

April, May, July and September, but not necessarily in 

the same order. Each of them born in different days 

namely Monday, Tuesday, Wednesday, Thursday, Friday 

and Saturday, but not necessarily in the same order. F 

born in a month which has only 30 days. Only 

one person born between the one who born on 

Friday and F. The one who born on Monday is 

immediately before the one who born on 

Saturday.The one who born on Tuesday neither 

born in the month which has 31 days nor in the 

month which has 30 days. Only two persons born 

between the one who born in Tuesday and B. C 

born immediately after B. Z born before E, but 

not immediately before E. H born on Thursday.



L, N, R, T, U, V, W, X, Y and Z live on five different floors from one to five. Ground floor is

number 1 and top floor is number 5. There are two flats on each floor flat-1 is west of flat-2 from such that flat-1 

of third floor is exactly above flat-1 of second floor which is exactly above flat-1 of first floor and other flats are 

placed in the same way.R lives in an even numbered floor. X lives just above U in a flat numbered 2. R does not 

live on the same numbered flat on which X lives. W lives just above Y who is just above to N in same numbered 

flat. Y does not live on the same floor on which X lives. V lives below to U in same numbered flat. T lives left to 

Z in same floor. Z lives above to L in same numbered flat. The number of the floor

below to L is the same as the number of floor above T.

L, N, R, T, U, V, W, X, Y और Z एक से पाचं तक पाचं अलग-अलग मंक्तजलों पर रहत ेहैं। ग्राउंड फ्लोर नंबर 1 ह ैऔर टॉप फ्लोर नंबर 

5 ह।ै प्रत्येक मंक्तजल पर दो फ्लैट हैं फ्लैट -1 फ्लैट -2 के पक्तिम में इस तरह से ह ैक्तक तीसरी मंक्तजल का फ्लैट -1 दसूरी मंक्तजल के फ्लैट -1 के

ठीक ऊपर ह ैजो क्तक ठीक ऊपर ह ैपहली मंक्तजल के फ्लैट -1 और अन्य फ्लैटों को उसी तरह रखा गया ह।ै R एक सम संख्या वाली मंक्तजल पर 

रहता ह।ै X एक फ्लैट संख्या 2 में U के ठीक ऊपर रहता ह।ै R उसी संख्या वाले फ्लैट पर नहीं रहता ह ैक्तजस पर X रहता ह।ै W, Y के ठीक 

ऊपर रहता ह ैजो समान संख्या वाले फ्लैट में N के ठीक ऊपर ह।ै Y उसी मंक्तजल पर नहीं रहता है क्तजस पर X रहता ह।ै V, U के नीच ेसमान 

संख्या वाले फ्लैट में रहता ह।ै T, Z के बायें से समान मंक्तजल पर रहता ह।ै Z समान संख्या वाले फ्लैट में L के ऊपर रहता ह।ै L के नीच ेतल 

की संख्या T के ऊपर तल की संख्या के समान ह।ै



L, N, R, T, U, V, W, X, Y and Z live on five different 

floors from one to five. Ground floor is

number 1 and top floor is number 5. There are two flats on 

each floor flat-1 is west of flat-2 from such that flat-1 of 

third floor is exactly above flat-1 of second floor which is 

exactly above flat-1 of first floor and other flats are placed 

in the same way. R lives in an even numbered floor. X 

lives just above U in a flat numbered 2. R does not live on 

the same numbered flat on which X lives. W lives just 

above Y who is just above to N in same numbered flat. Y 

does not live on the same floor on which X lives. V lives 

below to U in same numbered flat. T lives left to Z in same 

floor. Z lives above to L in same numbered flat. The 

number of the floor

below to L is the same as the number of floor above T.



A, B, C, D, E, F, G and H are sitting around a square table in such a way that four of them sit at 

four corners of the square while four sit in the middle of each of the four sides. Those who sit at 

the four corners faces outside while those who sit in the middle of the sides face the centre of the 

table. D sits third to the left of G. E sits third to the left of C. C does not sits any of the corners. 

Only one person sits between C and F. Only one person sits between D and F. A is an immediate 

neighbour of F but not an immediate neighbour of C. The number of the person sitting between 

B and F is same as the number of the person sitting between D and C.

A, B, C, D, E, F, G और H एक वगााकार मेज के चारों ओर इस प्रकार बैठे हैं क्तक उनमें से चार वगा के चार कोनों पर 

बैठे हैं जबक्तक चार चार भजुाओ ंमें से प्रत्येक के मध्य में बैठे हैं। जो लोग चारों कोनों पर बैठे हैं उनका मखु बाहर की ओर 

ह ैजबक्तक जो भजुाओ ंके बीच में बैठे हैं उनका मखु मेज के कें द्र की ओर ह।ै D, G के बायें से तीसरे स्थान पर बैठा ह।ै E, 

C के बायें से तीसरे स्थान पर बैठा ह।ै C क्तकसी भी कोने में नहीं बैठा ह।ै C और F के बीच केवल एक व्यक्ति बैठा ह।ै D 

और F के बीच केवल एक व्यक्ति बैठता ह।ै A, F का क्तनकटतम पडोसी ह,ै लेक्तकन C का क्तनकटतम पडोसी नहीं ह।ैB 
और F के बीच बैठे व्यक्ति की संख्या D और C के बीच बैठे व्यक्ति की संख्या के समान ह।ै



A, B, C, D, E, F, G and H are sitting around a 

square table in such a way that four of them 

sit at four corners of the square while four sit 

in the middle of each of the four sides. Those 

who sit at the four corners faces outside while 

those who sit in the middle of the sides face 

the centre of the table. D sits third to the left 

of G. E sits third to the left of C. C does not 

sits any of the corners. Only one person sits 

between C and F. Only one person sits 

between D and F. A is an immediate 

neighbour of F but not an immediate 

neighbour of C. The number of the person 

sitting between B and F is same as the number 

of the person sitting between D and C.



F, E, D, C, B and A are arranged in the top to bottom. Each box contains different colour Green,

Pink, Violet, White, Black and Blue, but not necessary in the same order. Only three boxes kept 

between D and the box which contains Pink. Both the box which contains Violet and the box 

which contains White kept below to C. Only three box kept between E and the box which 

contains Black. As many boxes between F and E as between E and D. A kept immediately 

above to the box which contains White. Only one box kept between the box which contains 

Violet and the box which contains Blue. The box F contains Blue colour.

F, E, D, C, B और A को ऊपर से नीचे तक व्यवक्तस्थत क्तकया गया ह।ै प्रत्येक बॉक्स में अलग-अलग रंग होता ह,ै हरा 

गलुाबी, बैंगनी, सफेद, काला और नीला, लेक्तकन आवश्यक नहीं इसी क्रम में हो। D और गलुाबी वाले क्तडब्बे के मध्य 

केवल तीन क्तडब्बे रख ेगए हैं। दोनों बॉक्स क्तजसमें बैंगनी ह ैऔर क्तजस बॉक्स में सफेद ह ैवह C के नीचे रखा गया ह।ै E 

और उस बॉक्स के बीच केवल तीन बॉक्स रख ेगए हैं क्तजसमें काला ह।ै F और E के बीच उतने ही क्तडब्बे हैं क्तजतने E और 

D के बीच हैं। A उस क्तडब्बे के ठीक ऊपर रखा ह ैक्तजसमें सफेद रंग ह।ै बैंगनी वाले क्तडब्बे और नीले रंग के क्तडब्बे के बीच 

केवल एक क्तडब्बा रखा गया ह।ै क्तडब्बा F में नीला रंग ह।ै



F, E, D, C, B and A are arranged in the top to 

bottom. Each box contains different colour

Green,Pink, Violet, White, Black and Blue, 

but not necessary in the same order. Only 

three boxes kept between D and the box 

which contains Pink. Both the box which 

contains Violet and the box which contains 

White kept below to C. Only three box kept 

between E and the box which contains Black. 

As many boxes between F and E as between 

E and D. A kept immediately above to the 

box which contains White. Only one box kept 

between the box which contains Violet and 

the box which contains Blue. The box F 

contains Blue colour.



Eight girls E, F, G, H, I, J, K and L are sitting in two parallel rows. In each row four girls are 

sitting.Both the rows of girls are facing to each other. First row is facing south direction while 

second row is facing north direction.H is sitting in front of L who likes orange colour. K who like 

yellow colour, is sitting in the middle of L and J. E is sitting second to the right of G and likes 

blue colour. The one who likes white colour does not sit on any of the extreme end of the row. 

The girl who likes red colour is I but is not sitting with the same row of G. People who like violet 

and black colour are sitting in front of each other.The one who is sitting in front of L likes the 

pink color but is not sitting at any end of the row. G is not facing the north direction.

आठ लडक्तकयां E, F, G, H, I, J, K और L दो समानांतर पंक्तियों में बैठी हैं। प्रत्येक पंक्ति में चार लडक्तकयााँ बैठी हैं। 

लडक्तकयों की दोनों पंक्तियााँ एक दसूरे की ओर उन्मखु हैं। पहली पंक्ति का मखु दक्तिण क्तदशा की ओर ह ैजबक्तक दसूरी पंक्ति

का मखु उत्तर क्तदशा की ओर ह।ै H, L के सामने बैठा ह ैक्तजसे नारंगी रंग पसंद ह।ै K क्तजसे पीला रंग पसंद ह,ै वह L और J 

के मध्य में बैठा ह।ै E, G के दायें से दसूरे स्थान पर बैठा ह ैऔर उसे नीला रंग पसंद ह।ै वह व्यक्ति क्तजसे सफेद रंग पसंद है

वह पंक्ति के क्तकसी भी अकं्ततम छोर पर नहीं बैठा ह।ै वह लडकी क्तजसे लाल रंग पसंद ह ैवह I ह ैलेक्तकन G की समान पंक्ति 

के साथ नहीं बैठी ह।ै बैंगनी और काला रंग पसंद करने वाले लोग एक दसूरे के सामने बैठे हैं। L के सामने बैठे व्यक्ति को

गलुाबी रंग पसंद ह ैलेक्तकन वह नहीं ह ैपंक्ति के क्तकसी भी छोर पर बैठे हैं। G का मखु उत्तर क्तदशा की ओर नहीं ह।ै



Eight girls E, F, G, H, I, J, K and L are sitting in 

two parallel rows. In each row four girls are 

sitting.Both the rows of girls are facing to each 

other. First row is facing south direction while 

second row is facing north direction.H is sitting in 

front of L who likes orange colour. K who like 

yellow colour, is sitting in the middle of L and J. E 

is sitting second to the right of G and likes blue 

colour. The one who likes white colour does not sit 

on any of the extreme end of the row. The girl who 

likes red colour is I but is not sitting with the same 

row of G. People who like violet and black colour

are sitting in front of each other.The one who is 

sitting in front of L likes the pink color but is not 

sitting at any end of the row. G isnot facing the 

north direction.



Statements: 

All Flowers are Trees. 

Only a few Trees are Gardens. 

No Gardens are Lawns. 

Conclusions: 

I. All Lawns can never be Trees 

II. Some Flowers can be Gardes

कथन: 

सभी फूल ट्री हैं। 

केवल कुछ ट्री गाडान हैं। 

कोई गाडान लॉन नहीं हैं। 

क्तनष्कर्ा: 

सभी लॉन कभी ट्री नहीं हो सकते हैं 

कुछ फूल गाडे हो सकते हैं



Pointing to a photograph, Rahul said, "She is the daughter of my 

grandfather's only son." How is Rahul related to the girl in the photograph ?

एक िोटोग्ाि की तरि इनंगत करते हुए राहुि िे कहा, ‘िह बेटी है मेरे ग्ांडिादर के एकिौते

बेटे की बेटी है’, तो ज्ञात कीनजए राहुि का उस िोटो ग्ाि िािी िड़की से क्या संबंध है?

(1) Father                                          

(2) Brother

(3) Cousin                                          

(4) Uncle

(5) None of these



Pointing to a girl in the photograph, Rahul said, ‘‘Her mother’s brother is 

the only son of my mother’s father.’’ How is the girl’s mother related to 

Rahul ?

एक िोटोग्ाि की तरि इनंगत करते हुए राहुि िे कहा, ‘उिकी मां के भाई मेरी मां के नपता

जी के इकिौते िड़के हैं तो ज्ञात कीनजए िड़की की मां राहुि से नकस प्रकार संबंनधत है ?

(1) Mother                                  

(2) Sister

(3) Aunt                                      

(4) Grandmother

(5) None of these



Pointing to a photograph, a woman says, "This man`s son`s sister is my 

mother-in-law." How is the woman`s husband related to the man in the 

photograph ?

एक िोटोग्ाि की ओर इनंगत करते हुए एक मनहिा िे कहा, ‘उस आदमी के बेटे की बहि 

मेरी मदर इि िॉ है’ उस मनहिा के पनत का उस िोटोग्ाि िािे आदमी से क्या संबंध है?

(1) Son-in-law                                      

(2) Son

(3) Grandson                                        

(4) Nephew

(5) None of these



Pointing to a gentleman, Ravi said, " His only brother is the father 

of my daughter`s father." How is the gentleman related to Ravi ?

एक आदमी की ओर इनंगत करते हुए रनि िे कहा, ‘उिके इकिौते भाई मेरी बेटी 

के नपताजी के नपताजी हैं िह आदमी रनि से नकस प्रकार सबंंनधत है?

(1) Grandfather                                       

(2) Father

(3) Brother-in-law

(4) Uncle

(5) None of these



A persons pointing to a photograph says, ‘This lady is my sister’s 

son’s grandmother’. How is the lady related to that person ?

एक तस्िीर की और इनंगत करते हुए एक व्यनि िे कहा, 'यह मनहिा मेरी बहि 

के बेटे की ग्ांड-मदर है'। उस मनहिा का उस व्यनि से क्या सबंंध है?

(1) Mother

(2) Father

(3) Brother

(4) Sister

(5) None of these 



Pointing towards a photograph Ruchi said, “His son is only nephew of my 

father’s only daughter.” Ruchi has no siblings. How is Ruchi related to 

that photograph?

एक तस्िीर की तरि इनंगत करते हुए रुिी िे कहा, "उसका बेटा मेरे नपता की एकमात्र 

बेटी का एकमात्र भतीजा है।" रुिी के कोई भाई बहि िहीं है। रुिी उस तस्िीर से कैसे 

संबंनधत है?

(1) Sister

(2) Brother

(3) Uncle

(4) Cousin

(5) None of these



Pointing towards a photograph, Devika said, “She is the only daughter of my 

grandfather’s son.” How is photograph related to Devika?

एक तस्िीर की ओर इशारा करते हुए देनिका िे कहा, "िह मेरे दादा के बेटे की एकमात्र बेटी 

है।" तस्िीर का देनिका से क्या संबंध है ?

(1) Daughter

(2) Sister

(3) Cousin

(4) Aunt

(5) Can’t be determined



Pointing to a photograph a lady tells Prakash I am the only daughter of this 

lady and her son is your maternal uncle. How the speaker related to Prakash 

father?

एक तस्िीर को इनंगत करते हुए एक मनहिा प्रकाश से बताती है, मैं इस मनहिा की एकमात्र 

बेटी ह ं और उसका बेटा आपका मामा है। ििा प्रकाश के नपता से कैसे संबंनधत है?

(1) Wife

(2) Daughter

(3) Sister-in-law

(4) Mother-in-law

(5) None of these



Pointing towards a person in a photograph, Anjali said, "He is the only son of 

the father of my sister's brother." How is that person is related to Anjali ?

एक तस्िीर में एक व्यनि की तरि इशारा करते हुए अंजनि िे कहा, "िह मेरी बहि के भाई के 

नपता का एकमात्र पुत्र है।" िह व्यनि अंजनि से कैसे संबंनधत है?

(1) Anjali’s Father

(2) Anjali’s Mother

(3) Anjali’s Brother

(4) Maternal Uncle

(5) None of these 



Pointing to a photograph, a man said, "I have no brother or sister but that 

man's father is my father's son." Whose photograph was it ?

एक तस्िीर को इनंगत करते हुए, एक आदमी िे कहा, "मेरा कोई भाई या बहि िहीं है िेनकि 

उस आदमी के नपता मेरे नपता का बेटा है।" यह तस्िीर नकसकी है?

(1) His own

(2) His Son

(3) His Father

(4) His Grandfather

(5) None of these



If ‘A × B’ means ‘A is the son of B’. / ‘A, B का पुत्र है’ 

If ‘A + B’ means ‘A is the father of B’. / ‘A, B का नपता है’ 

If ‘A > B’ means ‘A is the daughter of B’. / ‘A, B की पुत्री है’ 

If ‘A < B’ means ‘A is the wife of B’./ ‘A, B की पत्िी है’ 

Which of the following pairs of people represent first cousins with regard to the relations 

given in the expressions, if it is provided that A is the sister of J : 

अनभव्यनियों में नदए गए संबंधों के संबंध में िोगों में से कौि से जोडे़ पहिे ििेरे भाई का प्रनतनिनधत्ि करते 

हैं, यनद यह प्रदाि नकया जाता है नक A, J की बहि है:

‘L > V < J + P’ and ‘S × A < D + F < E + K’

(1) LP

(2) SP

(3) SK

(4) SF

(5) Cannot be determined.



Statements : T < S ≤ R ≤ Q < P, 

X > N > D ≥ S > H,

Conclusions :  I. T > D

II. N > H

III. H > Q
1. None follows

2. Only ll follows

3. Only ll and lll follows

4. Only lll follows

5. None of these.



Statements : V ≤ Y ≤ E < R < P, 

O > K > E > H > L,

C > R

Conclusions :  I. P > L

II. V < K

III. R > H

1. None follows

2. Only l and ll follows

3. Only ll and lll follows

4. Only lll follows

5. All follows



Statements : Z > Y < X ≤ W, 

N > Y ≥ C,

M < X,

Conclusions :  I. Z > C

II. M > W

III. Y < W

1. None follows

2. Only l follows

3. Only l and lll follows

4. Only II and lll follows

5. None of these.



Statements : U ≤ Y > X, 

N ≥ L > Y,

R ≥ N > W

Conclusions :  I. R = L

II. N > X

III. L < R

1. None follows

2. Only l and ll follows

3. Only ll and lll follows

4. Either l or lll and ll follows

5. None of these.




